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z X x 3FEx FEx EH RAEINE
x1/3 0 3 1 1 0  45X%103
0 1 2 0 1 40X103
1 600 500 0 0 0
33:17/ — 45 % 10
T1 +x,= 40 x 107
2+6002 // — 0
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z x FEx FEx Xi T
0 3 1 1 0 45X
0 1 2 0 1 40X10°

1 600 500 0 0 0
z X X FEx  FEx T &

0 T 1/3 1/3 0 15000

0 0 5/3 -1/3 T 25000

1 0 300 -200 0 -9000000
4 X X x FEx FEEH

0 T 0 2/5 -1/5 10000

0 0 1 -1/5 3/5 15000

T 0 0 -140 -180-13500000
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maximize

600x1 + 900x>
subject to
3x1 + o0 < 45 X 103
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maximize

600x1 + 900x>
subject to
3x1 + o0 < 45 X 103

T1 + 219 < 40 x 103
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minimize minimize

2z = —bx1 + 629 Z =I5 T Te

subject to subject to

201 + 3190 + 213 =0 201 + 319 + 23 — 06
—5513‘1 T 9.515'2 — 15 —5331 I 9:13‘2 —Iy — 15
—65131 T 3272 — X4 = 3 —6271 T 326‘2 — X4 TXg — 3

L1,X2,T3,T4 ZO L1, L2,L3,L4,L5, L6 >0
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minimize minimize
Z = X5 + Tg <
subject to subject to
2%1 + 322 + T3 = 6 2r1 +3watx3 =06
—5CE‘1 I 956‘2 +Is5 = 15 _5331 ‘|‘9372 +T5= 15
—6x1 + 322 — x4 +x6 = 3 —621 +3x2—Tat+T6= 3
T1,T2,23,24,25,%6 = 0 || 2—11x1+1225—24 =18
L1,L2,L3,L4,L5, L6 >0
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R A TS A A R A RSO E N REEN

Z X1 X2 X3 X4 Xs X6 ﬁﬁﬁ
0 2 3 1 0 0 0 6
0 5 9 0 0 1 0 15
0 -6 3 0 -1 0 1 3
1 11 12 0 -1 0 0 18
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BRI BB B SN0 M B K I 2 B0 B K 2 Bk I B

Z X X2 X3 X4 Xs X6 E %
0 1 0  3/11 0 -1/11 0  3/11
0 0 0 -13/11 1 8/11 -1 9/11
0 0 1 5/33 0  2/33 0 20/11
1 0 0 0 0 0 1 0
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o JAIDsimplex3k
z  x JEx FEx  x FEx  x W ORAEmME
0 2 3 1 0 0 0 6
0O -5 9 0 0 1 0 15
0O -6 3 0 - 0 1 3
1 -11 12 0 -1 0 0 18
o ExH]DEARAR
3"5;;%@%;& (331,332735'4) — (07070)
BERZH:  (2,23,25,26) = (18,6, 15,3)
s NN ZEmI=3FEFRHGZH/T
z X FEx Kx X FEx x FEEH SRAEME
0 2 3 1 0 0 0 6/3 =2
0O -5 9 0 O 1 0. 15/9=5/3
0O -6 3 0 - 0 (1 3/3=1
1 -11 (12) o -1 0 U 18
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Z x  3Ex X: X FEXx x JEEH BAEME
0 2 3 1 0 0 0 6
0o 5 9 0 0 1 _0_ 15
x1/3 0 -6 3 0 -1 0 (1) 3
111 (12) 0 -1 0 ~ 18
Z x  FEx X: x.  FEx x JEEH SAHEME
— X3 0 2 3 1 0 0 0 6
— X9 0 -5 9 0 0 1 0 15
0 -2 1 0 -1/3 0 1/3 1
—x12 1 -1 12 0 -1 0 0 18
z X 7Ex X X FEx x FEEH BAEME
0 3 0 1 1 0 -1 3
0) 13 0 0 3 1 -3 6
0 -2 1 0 -1/3 0O 1/3 1
1 13 0 0 3 0 -4 6
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Z x  3Hx x ZEx  FEx x FEEH mABEN=
o 8 0 (1) 1 0 -1 3/8=38
0 13 0 O 3 1 -3 6/13=6/13
0 =2 0 -1/3 0 1/3 1 /-92=-1/2
1 (13 o 0o 3 0 -4 6

z X —% % 3Ex FEx x FIEEH SAENE

/8 0 (8) 0 1 1 0 - 3

o ™ 0o 0 3 1 -3 6
0 -2 0 -1/3 0 1/3 1
1 13 0 0 3 0 -4 6

z X X x  IEx. FEx x JEEH RKREME
0 1 o 1/8 1/8 0 -1/8 3/8
O 0 0-13/811/8 1-11/8 9/8
o 0 1 1/4-1412 0 1/12 7/4
1 0 0-13/8(1/9 0-19/8 9/8

N—
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z X X x  3Ex x FEx FEEW SAEME
0 0 1/8 1/8 _Q_ -1/8 3/8%X8 =3
0 0 0-13/811/8 ( 1)}11/8 9/8/— =9/11
o 0 1 1/4-142 0 1/12 7/4 °©
1 0 0-13/8(01/8 0-19/8 9/8

z X X x FEx x JEx FETEH BAEmME
N 0 1/8 18 0 -1/8 3/8

/11 0 0 0-13/11( 1)8/11 -1 9/11

0 0 1 1/4-Tr72 0 1/12 7/4
1 0 0-13/811/8 0-19/8 9/8

z X X x FEx x JEx FETEH BAEmME
N 0 3/11  0-1/11 0 3/1°
0 0 0-13/117 1 8/11 -1 9/11
0O 0 15/33 0 0 020/1
1 o 0 0 0 -1 - 0

- HIRE BT = ARG



c VREQBKENRT L ATHBEORER I RES
Z Xi Xo Xz 3'5)(4 Xs 3"5 X6 jlf E%& Haﬁj(i% 7]”%
0 1 0 3/11 0-1/1T 0 3/1T
0 0 0-13/11 1 8/1T -1 9/17
0 0 1 5/33 0 0 020/17
1 0 0 0 0 -1 -1 0
« ERITIITTORIBEDREENT
N TR0 T % R
minimize minimize
Z 2z = —0x1 + 029
subject to subject to
2r1 +3x0+x3 =0 221 + 320 + 23 = 6
—dx1 +9x7 +x5= 15 —9x1 + 929 — 195
—6x1 +3x0—T4+T6=3 —6x1 + 312 — 24 =3
Z—]_]_.Tl ]_2332_394 = 18 T1,X2,T3, 24 > ()
r1,x2,T3,T4,Ts5,Te > 0




